§ HEZ sine-Gordon 2

de, =e,do +(f cosye, + f sinye,)du
de, = (-, +ke;)do + (- f coswe, +ve,)du
de, = —ke,do + (- f sinye —ve,)du

k =—l//o,+%C0tl//

| v="f_cscy = sine-Gordon 712
0=-k, +v_+ fsiny

d(de,) =de, ndo+d(f cosye, + fsinye,) Adu

Hrhde, Ado =[(—f cosye +ve,)dulado - let V = f cosye,+fsinye,

d(f cosy)=(f, cosy— fsinyy_ )do+(f, cosy —fsinyy, )du
d(fsiny)=(f siny + f cosyy_)do+(f,siny + f cosyy,)du

dV =d(f cosy)e, + f coswde, +d(f sinw)e, + f sinyde, Hdo HJ component 5

[dV],, =—f coswe +(f_cosy — fsinyy,_ — fksiny)e, +(f_siny + f cosyy_ + fkcosy)e,
dV Adu=[dV],, Adu=..(EEF)doAdu

Ry dd(e) =0

e, HI{&# f_ cosy — fsinpy, — fksiny =0 755
f

K=-y_ +T”cot1,//

8—3 %S —v+ f_siny + f cosyy_ + fkcosy =0 - # k AL



v=f_cscy

i d(de,) =0[FIH - &L > 5B
0=—k,+v_+ fsiny

[w, —%cot:,//]u +[f_ cscy], + fsiny =0

ek f 2—¥8 o Ay, + fsing =0 2 sine-Gordon /7% -



